Respostas da Lista 01 
1) Q = 600 C.

2) Nelétrons = 5,625 ( 1017 elétrons.

3) I = 8 A.

4) t ( 18 h.

5) V = 32 V.

6) E = 145,8 MV.

7) I = 0,68 mA.

8) a) V = 74 kV;  b) V = 825 V.

9) I = 20,83 mA.

10) V = 8,64 V.

11) V = 7,8 V.

12) R = 22 Ω.

13) Q = 36 C.
14) R1 = 10 Ω e R2 = 8 Ω.
15) I = 3,2 x 10-11 A ou 32 pA.

16) R = 1,7 x 10-2 Ω ou 17 mΩ.

17) A = 4 ( 10-8 m2 ou 0,04 mm2.

18) R = 1,5 Ω.

19) l ( 0,87 m ou 871,14 mm.

20) RA/RB = 2.

21) Letra d) RC, RA, RB.

22) P = 37,04 mW.

23) ( = 1.613,33 Wh  ou  ( = 1,61 kWh.

24) I = 51,64 mA.

25) VMÁX = 36,74 V.

26) IMÁX = 18,26 A.

27) I = 4,54 A.

28) Custo Mensal = R$ 4,18.

29) a) P = 18 kW;  b) ( = 64,8 MJ ou 18 kWh.
30) a) R = 806,7 Ω;  b) P = 15 W.

31) a) Custo do Banho = R$ 0,18;  b) R = 11 Ω.

32) a) I = 10 A;  b) R = 22 Ω;  c) l = 2,2 m.

